BRAASEHEIILD ERHY Y —H5T

2024 & 4 A 28 H (H)

BERAE wRUT PR LA X ok ok ok ok X R

FTHEUHIPR : PARX 3 N OUTO@R®@B®@D®® N INJAJ Jd d d d d d@

HDCPEFR: (BB) 40.0 (%) 40.0 & BXEI—X

gz BERE S uT | IN GROSS| HDCP | NET gz HEES uT | IN GROSS| HDCP | NET | Bt | mEBES [ oUT | IN | [GROSS| HDCP| NET |

2 B F Fh 50 50 100| 27.6| 72.4| A& aer AR R 55 58 113 33.6| 79.4

£EW T =5 43 45 88| 15.6| 72.4 A B 261 BE #z2 61 52 113 33.6| 79.4

ML | M EAE 53 50 103| 30.0| 73.0|AE 43 (RN E1T 55 52 107| 27.6| 79.4

Eiva BRA E® 51 51 102| 28.8| 713.2| A& 4461 | FIL HFRE 53 53 106| 26.4| 79.6

5 KR @ 47 48 95| 21.6| 73.4|AH 456 |¥% H—- 57 58 15| 34.8) 80.2|FH

64z = & 54 59 113| 39.6| 73.4|AE 461 |ILFF 2 48 49 97| 16.8] 80.2

ML |BR T8 52 43 95| 21.6| 73.4 AE 4 |5 EF 55 59 114| 33.6| 80.4

8 |&£H B 46 49 95| 21.6| 73.4 AE 4861 | FEH  Eh 50 46 96| 15.6| 80.4 q:#ﬂug(azg;ﬁj_x)

94z HE EX 49 46 95| 21.6| 73.4 AE 9 Bk F 57 55 112 31.2| 80.8 OUTZ/)T—I* INX/)T—I‘
1062 |52i# sh&E 50 50 100| 26.4| 73.6| A& 5061 AN Hth 57 53 110 28.8| 81.2|7%/kE

1Mz MLt FR 29 51 100] 26.4] 73.6 51t |EA BT 60| 55 115] 33.6] 81.4 RSay No.7 L FJK Bt )7
1261 |f5F BX 55 56 11] 37.2| 73.8 5of  |FR4E  thid 62| 57 119 37.2| 81.8 No.13 Hf Bx Sl 28X
136 |HME E5h 51 48 99| 25.2| 73.8 53 |fEiE #05h 56| 54 110| 27.6| 82.4 No.2 HE Y thiz =&
1441 *ﬁir B 49| 50 99| 25.2| 73.8 5L |Z%E  FIfE 63| 60 123| 40.0[ 83.0 o Nes P W
156 | InBE e 44| 48 92| 18.0| 74.0FRE YA 5N 49| 55 104| 20.4| 83.6|7xE —FEVE

166 B4 22X 39| 47 86/ 12.0| 74.0/BG 564 |¥AE BBF] 66| 58 124| 40.0[ 84.0 No.12 WE BX RE 2
174 (B HE 46| 45 91| 16.8| 74.2|55 % LK 5744 B8R Eith 61| 63 124| 40.0[ 84.0 No.17 Z1l mF hnEE fEA
186 |HWE X 51| 50 101| 26.4| 74.6 5841 1B IR=% 53| 66 119| 34.8| 84.2 AR ORE B mk

196 lum —8 43 51 94/ 19.2| 74.8 59 |H#E M 64| 61 125| 40.0| 85.0

204 |8 Hak 52| 54 106| 31.2] 74.8|FH 604 |dtA EAX 63| 61 124| 38.4| 85.6|7HE

204 |#E BEX 47 49 96/ 20.4| 75.6 6140 (&4 M 64| 62 126| 40.0| 86.0

265 Bl RkE 45| 51 96/ 20.4| 75.6 6261 |BHE B 61| 64 125| 38.4| 86.6

2361 A EM 46| 55 101| 25.2| 75.8 63t AR B 64| 49 113| 26.4| 86.6

2461 |FEly =7E 55| 58 113| 37.2] 75.8 64t |RBN —# 61| 50 11| 24.0| 87.0

2561 |NF% BEAER 49| 52 101] 25.2| 75.8|M& 6561 RE R 67| 62 129] 40.0| 89.0|7x

260 |EEB —2 56| 56 112| 36.0] 76.0 6661 (MR HT 66| 64 130| 40.0| 90.0|BB

040 |HEF B 58/ 58 116| 40.0| 76.0 6741 |E 2 67| 76 143| 40.0[103.0

28f (W YA 45| 48 93| 16.8] 76.2

296 AR A 53| 56 109| 32.4| 76.6

3047 (LA EH 60 54 114| 37.2| 76.8|FH

3L |t BB 46| 48 94/ 16.8] 77.2

2% |EE EHA 49| 56 105| 27.6| 77.4

3L (M 41 52 93| 15.6| 77.4

6 | B REH 51 54 105| 27.6| 77.4

356 /MR IES 50| 48 98 20.4| 77.6|ME

366 |HH 28 51| 53 104| 26.4| 77.6

3741 |Eikr EE 42| 49 91 13.2] 77.8

38f |FIL MF 54| 49 103| 25.2| 77.8

306 |RIE =4 58| 56 114| 36.0] 78.0

40 |FH FH 64| 55 119] 40.0| 79.0| A&




